_ b b b
%F’@#aﬁkabﬂﬂdﬂa+a+c+a+b+c+a+c+cﬂ

A4:ghe Fotolet.

® 9 @ 11 @ 13 @ 15 ® 17



Fed xy o] # 53k

S

x, yoll

9,]

@ 17 ® 18 @ 19 ® 20

D 16



oju

Ko

|
B
ol
S

1]

3
<
ol
™
1

0
A

[edgs
=2 =

Ftt. o] ol A o, M, eyl

5
HY

iy
%
<
ol
agu
! v
T Tl
W T
ol 5 T
o =
~ S
szm
I EZ
S S|
ﬁl_lz__o*
A
U
250@“

b=0

@ > a-b, a

=b

@ >, Va- Vb, a

=b

@ > a-b,a

=b

® >, Va- Vb, a

® >, Va- Vb, a>b



4. FFab’ta+b=15 TS 0,

F5}?

a

@ 4 @ 5 ® 6 @7

a’+1 b?
J’,i



sH7 4o 60m o] Y- 7HA AL of
Hip ol o] /o] A2 AAAg e
T kel sEle wesa
ol o, A f-2ef Wolof Hggk2?

v 'lim L &
R
)
<

D 60m? @ 70m? ® 80m?
@ 90m* ® 100m?2



® 25
2

45
4

@ 5+5V2
+5

®

25
%
T2

@
@



7. a>0,b>0,c>0°2a+b+c=14L9 1, va+2Vb+3+vc2
A2

® 12 @ 13 ® 14 @ 15 ® 16



FA-ArHFE = BS54 (a2 4+ 0%+ %) (2% +y° +
7%) > (ax + by + cz)? & ©o]-&oto] 7t=2, A&,
E=O17F 242} a,b,h ol 2L, thZHA 9] o)t 5
ol A& Aol A BE BA P 9] Zo]o] 3o

@ 5vV3
@ 2545

@ 45
® 246

® 20V3




W5-o] gt 3 pellA] ZF §iej

2
s X1

+ X3+ x3 9] F 22

288 976

D% O



10.

A4 a, b of| isto]

D1

@ 2

a? + 2ab + b?

a? 4 b?

@ 3

9

i)

Fise

@ 4

?



11. Al %% a, b, ¢ 7} abe =

12 WET U, o] AURTH FE 5
Ae HI7|A B e

Y

l.a+b+c>3
I.a?>+b%>+c%23
Il.ab+bc+ca>3
N.(a+1)(b+1)(c+1)=38

O I, 1 @ I,1II ® I, v
@ I, I, v ® I, I, 1IN



9
a-—1

%) ol e AR o, a1+

Al
=

A x2—4x+4a =0 (a=

i

o1}

12.

X

@ 3 ® 4 @ 5 ® 6

D 2



tol a +2b7F AW L o, a 2}

S

=
5
S
S
<
<
W+
T
RO o
on
o &
B
)
0
<
X

13.

® a=b

2b

® b =a

a

@ b=2a

@ a’>=b



12 s=(a+b+c)at T o,

ot

DN | =

14. A7) Al H9] Lol q, b, cat

(s—a)(s—b)(s —c) < kabc'E WZA 7= A5 k9] gh= L5HH?

© 5

®
00| =

©)

S

@

=

@

W =



15.

a, b7} o] A

a®l 2 Bol

®6a1

1
4, -
@ 2

o}



